e B

E B 00323 A PEEEE
= 7 =1
: SRt 29 8y 11y [(lll’ljal'hil(f/l‘\l)(ijl'jl\[%g
N /\ % - wiay
E g B R éi AF —
| B HOR R E S R W OF B BEeEAR/RMEAR PUERREN | BBEOME B R g R ob) ok o B ik
‘ 4 7 Pk | | ‘
@H 100 & 6937 ;i 24 8y 1lpl 284 Ty il k sy BEMH . Xy T A= [012]
, # BN R R W OE R R K OB M R W@ W IO
UDKS v 2 A | - [366] 2, 131004, 10260, 23470,
: H = E5 Kl ; Rk s g SIS U OO i il R R Wb E
CXS5YA=30030 - - - - e 3 , 1192m1‘ 248 35l. 5250 w2550k 24604
moo 5 e JFo®y o o W s e 2y mm 1 ROk o FOH V Wlw.],yga COBUIIK Sy R
} . } j kw‘ ‘ )
QKG“CXSYvamw4Qw, GH11 o 10.83 %
REES TR T _
PHEOREXEAT sttt ) k52 P
) ‘ i , ,
%TAfV{I%Am%ﬁL%WZTE18*1O , e o T ; [32888]
&ﬁf@&% t%ﬁtk**:M 
Lt ﬁﬁ%’m G Pﬁ‘**ﬁ“_x | |
{” ”M“” " e gt rhy\}%wm s—8-1 IR G 118508 0203)
ﬁﬁ%mwﬁTTéH ﬂm | | | i
G e iy 2111 R o
i % , s
E@#J,%E?ﬂ BRI LT 4 [
L27’ mijm28¢7ﬂba BB 2 5 % UL HE E
I
$W2741W%? Jh YE R L
ﬁﬁﬁmum(NOX-PM)ﬁéo:®§%$®&m@KM@No
x P MX sk ¢ 9, ‘
T ) AT
[i??ﬁﬁﬂﬁ%%@mﬂﬂ] 274, 200km (%14 11H22H)
[mtﬁﬁm,fKW]217,400km(WWSO$7HBH)
TR 1 3 BRI ML, rEEPE R B 9 9 d B
(oA FREH] (920) B2 24 300L 300
L o R070249
(] s ] o i s [a] [Eke 2] [m]egsiE ot
‘“h’ﬁ T = “EE]&E%% ALt ggfgﬁ g z &<%
e B g : A% g nl i
OB [k mﬁﬁ% [E e e R B 5%

[

]

< 0t A



